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Agaus.c”

#include "stdlib.h"

#include "math.h"

#include "stdio.h"

int agaus(double *a,double *b,int n)
{ int *js,lk,i,j,is,p,q;

double d,t;
js=(int *)malloc(n*sizeof(int));
I=1;
for (k=0;k<=n-2;k++)
{ d=0.0;

for (i=k;i<=n-1;i++)
for (j=kij<=n-1;j++)
{ t=fabs(a[i*n+j]);
if (t>d) { d=t; js[K]=j; is=i}

}
if (d+1.0==1.0) I=0;
else
{ if (js[k]'=k)

for (i=0;i<=n-1;i++)
{ p=i*n+k; g=i*n+js[k];
t=a[p]; a[p]=alal; a[a]=t;
}
if (is!=k)
{ for (=kjj<=n-L1;j++)
{ p=k*n+j; g=is*n+j;

t=a[p]; a[pl=alq]; alqg]=t;

}
t=b[Kk]; b[k]=b[is]; bJ[is]=t;

}
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}
if (1==0)
{ free(js); printf("fail¥n");
return(0);
}
d=a[k*n+kK];
for (j=k+1;j<=n-1;j++)
{ p=k*n+j; a[p]=a[p]/d;}
b[k]=b[k]/d;
for (i=k+1;i<=n-1;i++)
{ for (j=k+1;j<=n-1;j++)

{ p=i*n+j;

a[p]=a[p]-a[i*n+k]*a[k*n+j[;

}
b[i]=b[i]-a[i*n+Kk]*b[K];
}

}
d=a[(n-1)*n+n-1];
if (fabs(d)+1.0==1.0)

{ free(js); printf("fail¥n");

return(0);

}
b[n-1]=b[n-1]/d;
for (i=n-2;i>=0;i--)

{ t=0.0;

for (j=i+l;j<=n-1;j++)
t=t+a[i*n+j]*b[j];
b[i]=b[i]-t;

}

js[n-1]=n-1;
for (k=n-1;k>=0;k--)
if (js[k]!=k)
{ t=b[K]; b[k]=b[js[K]]; bOs[k]]=t;}

free(js);

return(l);
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#include <stdio.h>
#include <math.h>

#include <conio.h>
#include "agaus.c"

void main(void)
{
double radl,rad2,rad3,s1,s2,s3,c1,c2,c3;
double x;
double degl,deg2,deg3,a,b,c,d;
double omega,so,c0,A1,B1,C1;
double P[3][3];
double s[3],temp;

int ij;

[* degl,2,3 radl,2,3 s1,2,3 ¢1,2,3 so co */

for(deg1=0; deg1<360; degl+=60) {
for(deg2=0; deg2<360; deg2+=60) {
for(deg3=0; deg3<360; deg3+=60) {

clrscr();

printf("¥n¥ndegl1=%4.1f¥ndeg2=%4.1f¥ndeg3=%4.1f¥n",degl,deg2,deg3);
rad1=(3.1415/180.0)*deg1;
rad2=(3.1415/180.0)*deg2;
rad3=(3.1415/180.0)*deg3;
sl=sin(radl);
s2=sin(rad2);
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s3=sin(rad3);

cl=cos(radl);

c2=cos(rad2);

c3=cos(rad3);

if(fabs(rad2-rad3)<0.00001){
omega=0.5*3.1415;

getch();
continue;
}
else{
x=4.0*(s3-s2)/(-2*14.5+4.0*(c3-c2));
omega=atan(-1/x);
iflomega<0) omega+=3.1415;
}

so=sin(omega);
co=cos(omega);
printf("omega=%6.2f ¥n",omega*180/3.1415);

/* pl p2 p3 */

P[0][0]=20.6;
P[0][1]=4.0*c1+8.5*co;
P[0][2]=4.0*s1+8.5*s0;
P[1][0]=-10.3;
P[1][1]=14.5+4.0*c2+8.5*co;
P[1][2]=4.0*s2+8.5%*s0;
P[2][0]=-10.3;
P[2][1]=-14.5+4.0*c3+8.5*Co;
P[2][2]=4.0*s3+8.5*s0;

s[0]=s[1]=s[2]=1;

if(agaus(&P[0][0],s,3)==0){

getch();
continue;
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Al=s[0];
B1=s[1];
Cl=s[2];
printf("A1=%10.4f¥nB1=%10.4f¥nC1=%10.4f¥n¥n",A1,B1,C1);

temp=sqrt(A1*A1+B1*B1+C1*C1l);
a=Al/temp;

b=B1/temp;

c=C1l/temp;

d=1/temp;

printf("a=%210.4f¥nb=%10.4f¥nc=%10.4f¥nd=%10.4f¥n",a,b,c,d);
getch();

}

}

}
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